Whitman College 
Econ 358 
Exam 3 
November 18, 1998 


Write all answers in your blue book. Show all of your work. 


Suppose that the Capital Asset Pricing Model (CAPM) assumptions hold. Use the following information to answer all of the questions on the exam. 

The standard deviation of the market portfolio (M) is 0.20. 
The expected return of the market portfolio is 0.18. 
The standard deviation of Security A is 0.25. 
The standard deviation of Security B is 0.15. 
The covariance of Security A with B is 0.005. 
The covariance of Security A with M is 0.02. 
The covariance of Security B with M is 0.01. 
The risk-free rate is 0.03. 



1. (a) (10pts) Calculate the expected return of Security A. 
(b) (10pts) Calculate the expected return of Security B. 

2.(a) (10pts) Graph the Capital Market Line. 
(10pts) On your graph, indicate Security A, Security B, and the feasible set of risky securities. 

3. (a) (20pts) Find the standard deviation of a portfolio composed of 90% Security A and 10% Security B. 
(b) (10pts) Find the expected return of the portfolio from part (a). 
(c) (20pts) Did putting 90% A together with 10% B produce a diversification effect? Explain, with reference to a definition of the diversification effect. 

4. (10pts) Max spends $1000 on the risk-free asset, $90 on Security A, $150 on Security B, $200 on Security C and $300 on Security D. Nathaniel spends $4000 on the risk-free asset, and $30 on Security A. How much does Nathaniel spend on each of Securities B, C, and D? 

5. (15pts) Suppose a saver sought a standard deviation of 0.15. What portfolio would this person hold? What expected return would this portfolio have? 

6. (15pts) Consider the following project, which has a standard deviation of 0.25 and a covariance with the market portfolio of 0.01. The project requires spending $200 now and provides expected benefits of $220 two periods from now. Should the project be undertaken? Explain. 

7. (20pts) Explain as thoroughly as possible whether the following statement is true or false. " A risky security cannot have an expected return that is less than the risk-free rate, since no saver would be willing to buy this asset."
